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Elective — FINANCIAL MANAGEMENT
Time : 3 hours	    		   Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)  
Answer any TEN questions
1. What do you mean by Finance function? 
2. Write a short note on Profit maximization.
3. What is Working Capital?
4. State the meaning of management of Inventory.
5. Write a note on Dividend Policy.
6. List out the forms of Dividend.
7. What do you mean by Capital Structure?
8. What is Leverage?
9. Write a short note on Capital Budgeting.
10. From the following information, calculate operating leverage:
	No. of units produced and sold: 30,000
	Selling price per unit: `20
	Variable cost per unit:`10
	Fixed cost per unit at current level of sales is `5.
11. A project costs `15,60,000 and yields annually a profit of `2,70,000 after depreciation of 12% p.a. but before tax at 25%. Calculate pay-back period.
12. From the following information, determine the EOQ:
	Annual consumption 		90,000 units
	Cost per unit			`50
	Buying cost per order		`10
	Cost of carrying inventory	10% of cost.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions
13. List out the factors affecting Dividend Policy.
14. What are the determinants of Working Capital? 
15. An investment of `10,000 (having scrap value of `500) yields the following returns: 
	Year
	1
	2
	3
	4
	5

	CFAT
	4,000
	4,000
	3,000
	3,000
	2,500


The cost of capital is 10%. Is the investment desirable? Discuss it according to NPV method assuming the P.V. factors for 1st , 2nd, 3rd, 4th and 5th year – 0.909, 0.826, 0.751, 0.683 and 0.620 respectively. 
16. The following projections have been given in respect of O Bright Co:
Output 		        		 3,00,000 units 
Fixed cost (`)			 3,50,000
Unit variable cost (`)         1
Interest expenses (`) 	 	 25,000 
Unit selling price (`) 	       	 3
 (
[P.T.O.]
)On the basis of above information, calculate (a) Operating Leverage (b) Financial Leverage       (c) Combined Leverage.1
17. From the following information relating to Perera Ltd., calculate (a) Operating cycle, (b) No. of operating cycles in a year assuming a 360 day year. And (c) Average working capital required, if annual cash operating expenses are `150 Lakh.
Stock holding: Raw materials	:	2 months
		      W.I.P 			:	15 days
		      Finished goods	:	1 month
Average debt collection period	:	2 months
Average payment period		:	45 days.
18. Martin Ltd., has the following capital structure:
25,000 Equity shares of `10 each 		`2,50,000
2,000 9% Pref. Shares of `100 each		`2,00,000
3,000 10% Debentures of `100 each	`3,00,000
The company’s EBIT is `1,25,000. Calculate the financial leverage assuming that the company is in 40% tax bracket. 
19. Manian Ltd., is considering expansion of its production facilities. It has collected details about two models of a machine. Model ‘A’ costs `5,40,000 and has an economic life of 6 years where as model ‘B’ costs `1,40,000 and has a life of 7 years.
The following are the estimates of sales and costs per year.
						    	     Machine ‘A’		Machine ‘B’
							              (`)                     (`)
Costs: Materials 					    40,000		     40,000
           Labour						    20,000		     80,000
           Overheads					    50,000		     50,000
           Sales 						 2,50,000   	  2,50,000
Depreciation is to be charged on straight line basis. Tax rate may be taken at 30%. Calculate the average rate of return on the basis of original investment for both machines. Which machine do you recommend?		          
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. Aruna Ltd. is considering the purchase of a new machine which will carry out some operations performed by labour. A and B are alternative models. From the following information, you are required to prepare a profitability statement, and work-out the pay-back period, Net present value and  profitability index:

	
	Machine A
	Machine B

	Estimated life (years)
Cost of machine (`)
Cost of indirect materials (`)
Estimated savings in scrap (`)
Additional cost of maintenance (`)
Estimated savings in wages:
        Employees not required (number)
        Wages per employee (`)
	5
1,50,000
6,000
10,000
19,000

150
600
	6
2,50,000
8,000
15,000
27,000

200
600


Assume tax rate at 50% and cost of capital 10%. Which model would you recommend?
21. The capital structure of Madan Ltd. consists of equity share capital of `8,00,000 (Shares of `100 each) and `8,00,000 of 12% debentures. Sales have increased from 80,000 units to 1,00,000 units; the selling price is `15 per unit, variable cost amounts to `9 per unit and fixed cost amounts to `1,60,000. The income tax rate is assumed to be 50%.
Required:
a) Calculate the percentage increase in EPS
b) Determine operating leverage at 80,000 units and 1,00,000 units 
c) Determine financial leverage at 80,000 units and 1,00,000 units.
Comment on the risk position of the company.
22. From the following information, prepare a statement showing the estimated working capital requirements:
Budgeted sales 			 `2,60,000 p.a.
Analysis of cost and profit of each unit:
			            			`
Raw materials			3
Labour				4
Overheads 			2
Profit 			        	1 
Selling price per unit	        10
It is estimated that
a) Pending use, raw materials are carried in stock for three weeks and finished goods for two weeks.
b) Factory processing will take 3 weeks.
c) Suppliers will give five weeks credit and customers will require eight weeks credit.
  It may be assumed that production and overheads accrue evenly throughout the year.
23. From the following information, you are required to calculate reorder level, maximum level, minimum level and average level for materials X and Y.

	
	X
	Y

	Normal usage per week
Reorder quantity
Maximum usage per week
Minimum usage per week
Reorder period (week)
	150
900
225
75
12 to 18
	200
1500
250
100
6 to 12
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